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them is the correct. answer. Make your choice (1, 2, 3 or 4). signature

Shade the correct oval on the Optical Answer Sheet.

1. Which one of ﬂa‘gg;fq\llawing is a living thing?

(1) L )

@ | (4)
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2.

Which one of the following animals is NOT an insect?

(1)

@)

The-.clas'stﬁf“

(2)

(4)

able below differentiates living thirigs A, B, C and D.

living:things: A, B, C'and D

reproduce: by spores

N

| mak

eséis‘*a '

- foed. .

. 'do not reproduce by spores

AN

o ’fﬁ,@smétmake 1 “hedrsflowers
cpsdtsownfood |10 :

does natbear
flowers -

|

B

Which one of these living things represents moss?

(0
(2)
@

@

A

B
C
D
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4.  The diagram below shows the life cycle of an animal.

€gg

adult nymph

Which one of the following animals has its life cycle as shown above?

-

(1) frog
(2) beetle
(3) chicken
(4) cockroach
5. The diagrams below.show the life cycles of two animals, X and Y.

animal Y

animal X

Based-on the information above, which ene of the following statements is
correct? :

(1)
2
3
)

Both adults of animals X and Y lay eggs.

Animal Y has more stages in its life cycle than animal X.

Both the young of animals X and Y resemble their parents.

At the adult stage, animal X has wings but animal Y dees not have wings.
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6. Jimmy carried out an experiment using similar green beans and boxes of the
same size in set-ups A, B, C and D as shown below.

sef-up A set-up B
- clear clear
glass box 7 glass box
|~ beaker V beaker
' green _-green
beans with . beans with
L dry cotton L wet.cotton
o .
set-up C set-up D
_— Ppaper box _— baper box
beaker / beaker
sz green . \/grl,een
“beans with “|  beans with
dry-cottort - wet cotton

Jimmy placed-all set-ups by a window. No sunlight reached the seeds in the
papesbexes.

In which of these:set-up(s): would the green bears:germinate?

)
@.

&)
4

B.only

A-and:B.only

B-and:D-only
A, C dnd D only




Which one of the following diagrams shows the comect development of a
geminated seed?

(3)

4
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The diagram below shows the labelled parts of the skeletal system of an animal,

Which of these parts protect certain organs of the animal?
(1) A and B only

(2) BandC only

(3) C'-éndfl_pf»omy

(4 A BandDonly

The diagram below shows what happens when we breathe in and out.

[ - o
air from. §urr0undmgs air breathed eut

When we breathe in, the diaphragm, which is a sheet of muscles, moves
- WRenwe breathe out, the diaphragm moves. up.

— .direction of movement of diaphragm

| ---» direction of mevement of air

to be continued on the next page
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continued from the prévious page

Based on the information on page 6, four pupils drew maodels of the human

respiratory system as shown befow.

Which one of these model drawings was the best representation?

1Y

drinking straw

R

plastic
bottle

— balleon

-~ rubber sheet

rubber.sheet moved.up

)

drinking straw

__ plastic bottle

balloon
“_ /a
rull rubber
J sheat

| rubber sheet:moved-down:

@3)

dn”:rikmg straw

-l Plastic

] bottle

| balleon
rublbiepish

"_{ﬁbbﬁfsheet'ﬁot moved at all- -

“4)

drinking straw

: -—— ' -.’3-§§I'astic>'b_otﬂe

2 palldon

) /R' — rubber sheet

rubber sheet moveditp

, * 1‘ direstion-in which rubber sheet moved.
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10.  There are basically 2 types of root systems as shown in thé diagrams below.

tap root system fibrous root system

ground ground
_ main root cluster of
roots

branch
roots

| The fibrous root system has a cluster of
1 rodts’growing from-the base-of the stem,
teplacing the main root.

Based;enzﬂaeﬂnfoﬂnaﬁon -above, classify the roots-oftheseplants, A, B, C, D
-and:E as: shown below.

\Mmeh -one:of thefollowing. shows o y ‘haw the roots of these plants are
grdauped?

pwont-aystem “fibrous root system (
X&) AandE B,CandD J
3 BandC A, DandE i
A3 CandE A BandD.
(4) B,DandE AandC

Pane R »f 22



11. Sam selected four materials, P, Q, R and S, of equal size to find out how well
each material absorbed water.

An experiment using the following apparatus was conducted for his investigation.

measuring cylinder

matedat P

Material P was-placed over the mouth of a jar. 50 m¢ of water was poured
through the material.

The whole experimental procedure was repeated with-Q, R and then S.

The-amount: of~water collected in the jar was recorded in.the- tabie below.

maulhaf jaacovered with matenal | P Q| R S

amount of water collected in the jar (mf) | 45 | 34 | 15 | 29

-Based on the infoeamation above, which one of the following:shows:the comrect
arrangement of these materials based on how well they.absorbed water?

mnsiaaﬁszsment

(1) B a S R
(2 Q R S P
@) R S Q P
(4)- 8 P Q. R
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12. Four materials, A, B, C and D, were differentiated as follows:

L-materials A B, CandD

L waterproof not waterproof
.a“GW‘,ljght?tO -Idoe'slmét:-@g_kpw- _ can._be. cannot be
‘pass.through light to'pass scratched scratched

B S ‘through it easily easily
A B | c D

Martha wanted to make part X of an umbrella, as shown below, to keep rain and
sun-off. ’

part X

Based: onthe information-above, which ane of these matedals, A, B, C or D,
shouldMaitha-use?

(1) A

2 B
@ ¢
(4) D

M. . A fna



13.  Matter is anything that has mass and occupies space.

Which one of the following is NOT matter?

(1) air
(2). honey
(3) shadow

(4) - milk powder

14.  Siew Jing cut:off the bottom:of 2 plastic containers, A and B. She screwed the
cap tightly on bettle A but NOT on boftle B as shown below.

A B
cap '

Next, she pushed both bottles directly into a tank of water.
Which one. of:-the following diagrams shows the correct levels in bottles A and B?

3 ' “
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15.  Look at the picture below.

Which one of the following shows the path of light which enables the boy to see

the picture?
direction of light ————

[@ e

@ 1(4)
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16. Below are 3 figures each cut out from a different material.
A WL

7 cm 7cm

A
\ 4

A
\ 4

7cm
tracing : 7cm
paper: . . wood clear plastic
The 3 figures are glued together and placed between a torch and a screen as
shown below. L

?f’f'glued‘ figures

screen

Which ene -ofiﬂ\e followingds the most likely shadow.seen on the screen?
(1) ‘

torch

®3) “)

Page 13 of 33 - 2011 P4 Sclence SA 2



17.

18.

Ashley had 4 different materials A, B, C and D of similar size and shabe.

She placed material A at position X between a lighted torch and light sensor
connected to a meter which measured how much light passed through the
material: :

_{orch light sensor

—

connectad to
a meter

® o o

"X

Ashley then replaced the material A with another material B, C and D, ONE at a
time.

She recorded her reslts.in the table below:

material _;,;'?;i‘amount of light that passed-through (units)
A 450
8 600
[
C e 100
D ' 850
) - P

P

yessibly be used to make

1y tesEn

()  alightedbuib
(3) abumingiog
(4  awoollenjacket
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19.

20.

X, Y and Z were blobs of wax on a piece of metal wire shaped into a spiral. The
wax was of the same amount.

When the wire was heated at one point, blob X melted first, followed by Y and
finally Z.

At which point, A, B, C or'D, was the wire heated?

metal wire

1 A
2 8
@ C
(4 D

Mary put some ice cubes and a-metal -§poon into a:beaker of hot water at the
same time. She left it enfa*bfecktof Wood-asishown below.

ice cube
metal spoon

beaker
hot water

block: of wood

Which one of -the following identifies correctly the-object(s)  whictigained/lost
heat? |

gainedieat “lostheat
(1) | metatspoon hot water, ice cubes, -block of wood
(2) [block of wood, hot water metal spoon, ice cubes
(3) | bleck of-wood, ice cubes metal spoon, hot water
(4) | block of wood, icé cubes, metal spoon | hot water
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21.

22.

Jean used a candle flame to heat the side of an inverted flask as shown in the
set-up below.

air ~f
flask j—— retort stand

candle flame

T glagsitube

Jean removed-the candle flame and allowed the flask to cool.
Which one of the following could be observed by Jean?
(1)  Waterdevel in-the-basin rose.

A2)  Moreair bubbles-were seen in the water.
(3) Atewdargea ubbies:entered-the:fidsk.

(4) Waterentered:the glass tube into the fiask.

Which one: ef me foﬂow:qu canbe attracted by a magnet?
(1)  ironball

2) .plﬂ‘t!"&iball-‘ -

(3)  rubberball

- (4)~ - wogdeaball
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23.

Jennifer pasted a cardboard under a magnet and placed them directly above a
tray of iron pins.

She lowered the magnet to a height of 6 cm above the table and recorded the
number of iron pins attracted to each part of the magnet, D, E, Fand G, as
shown below.

-paper cardboard .

magnet

iron pin

Which one of the following shows the most possible number of pins attracted to

each part of the magnet?
number of pins at
.. spartD . part-£ . part-F .part G

N 0 10 10 0

(2 2 , 6

@ [ 4 4 4
@y 7 27 3 8
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Each of the three different bars, A, B and C, of the same size is hung from a
horizontal rod as shown in the diagram below.

AlEgEe g

bar magnet

The S-pole of a bar magnet is brought near to end X and end Y of each of the
hangmgba:%.ONE at.a time.

. Thetable:below:shows the observations made durihgthe experiment

i ob}ect - - observations
‘ % - ¥
A7 |'movéd away:from maghet  |ovéditowards:magnet

B 'mioved towards magnet L 'ha'dxiédzﬁsivay'#wm'ma'gmét

-G “moved-towards-magnet |-moveditewards:magnet

Based on the.information above, answer questions:24.and 25.

24.  Which one of the following statements is correct?
) | Only Ais a magnet.
(2) Aand B are magnets.
(3) BandC are non-metals.
(4) Part X of both A and<C repetl each other.
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25.

Using these bars, A, B and C, which one of the following diagrams is correct?

(M 2)
A C
Y Y Y
B
Y Y
C B
3 4)
C
Y Y Y
8 A .
Y.
A
Y
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Name : . Index No: Class: P4__ _ '

SECTION B (40 marks)
For.questions 26-to 39, write your answers clearly in the spaces provided.

The number.-of marks available is shown in brackets [ ] at the end of each question
or part qqg§gjon.

26. Marcus saw some living-and non-living things, P, Q, R and S, on the beach as
shown in the:gicture below. ‘

Based:gn.the iaf@rmaﬁon'aboye,. classify P, Q,.R.and S into suitable groups in
the talile below. ' [2]

living | nenliving _
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27. The diagrams below show the stages.in the fife cycles of living things A, B and

spore

adt 0\4/ J
*mycelium: feeds on decaying matter

Based-on the'information: above; answer-the following questions:

(@) (i) .Classifydiving:things;,»8.and.C, into-two groups in the table below
- according:todowthey:arefeproduced.

Write letters:8:and C ONCE only. (1]

Living thing A and{adder fern have been classified togsther.

(i) - Write-a-suitable-heading for-each group inthe-table-below. {1}
ladder fem
A

to be continued on the next page
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continued from previous page

(b) Name ANOTHER plant that repraduces in the same way as living
thing A. (1]

Justin carried out an experiment by. using three pleces of bread from the same
loaf.

He. tp,asted a piece.of bread and sprinkied. some water on another.

Next, he put each piece of bread in a-tightly-sealed jar in set-ups.W, X and Y
and left them in a dark room as shown below.

i set-up W — 'Ié'ét-up X ] set-up Y

original
read

After a few days, Justin- madeithe following observations of each piece of
bread in‘set-ups W: X-and'Y.
- Atick ({ )*ma‘eeate_ytue pr:’esep’eé"'ﬁf=’m?§uld’bﬁ‘tﬁe bread.

B prgs @wpf n@putd on the:bread.

v

(©) Inwhigh set-up was the bread likely to have the largest amount of
moyld.growing on it? Give-a reason for your answer. (1]

.
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28.  Choose the correct words from the box to answer the questions below.
gullet farge intestine  mouth small intestine stomach
in 2 human digestive system, name the part where
(a) partial digestion first takes place : [1]
(b) excess water i$'removed from undigested food : (1]
29.  Ravi measured the ntimber-of times his heart beat before, during and after his
run. L .
His'heart was beating-at about 70 times a minute before his run.
The results are:shown in the-graph below.
number of '
times 120

‘heartbeat

60 {

s s admmne memaanAammeanan

lecccanancsnaaas

e scscanenaa,
—aamsasaarana

T T - — T ————yr—— — r T hatoiy

A o 8 c D E time (min)
AB, BC;COU4HSDEWers diferent: peritds-before; during and after Ravi's run.

(a) List 2 bady systemswhich work together to enable Ravitomove. (2]

(b) Name'thepefied, AB, BC, CD or DE, during which Ravi started running
igorausly.

Giverareason-for your answer. o !
[ Geriod of time — teason
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30. The diagram shows a plant.

(a) Label plant part X.

X:

Fill in-each:blarik:with-a suitable word/ phrase.

(b) Part Xehelps the:plant to:take in

© . F’-a;(;t;,}f.hg!pszghgpl@pt to.make ___

light:

Page 24 of 33

(1]

(21

from:the/sail.

in the:presence of

2011 P4 Sclenca SA 2



31. Jeremy selected four materials, A, B, C and D, to find out which was the best
material to make bags for carrying heavy things.

An equal length of each material, A, B, C and' D was tied to each of the four
identical wooden blocks on.a table.

Four identical containers were hung at the end of the strips as shown below.

A B C B
= ] “'ﬂ wooden block
' table
strip of
‘7 matedal

. @ - contairer

Jeremy dropped-some marbles; one at a time; into.each small-container until
. the strip of material broke.

“Hexrecordéd:the total-number oft:marbles in: :each-containerjustibefore the
strip.of: 'maténatbooke: inithe table below.

number:of matbles:in-the
B %ﬁipm:ﬁma‘teﬁial--- ' contﬁlﬁérﬁbﬁfdiéﬂthesm;a -broke
AT 127
B 134
C | 122
D 1?38

Based:on the information above, answer the following.questions:

(a) Which of the following variables should Jeremy keep constant to
conduct:a-fairtest:for his expetiment?
- Puteastiok (V) in: thé:box(es) betow. _ {1]

:.vaﬁgmg - tick (V) here
' --.maéémfmaﬁbie

m‘atenat' of: sfmps

lengt \-af Strip of fatenial
thickness. of strip- of material

to be continued on the next page
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continued from previous page

(b) Whatis the relationship between the number of marbles in the _
container and strength of the material? (11

~

(c}  Which one of these materials, A, B, C or D, is the best material to make
the bag to catry heavy things?

Givera reasonsforyouranswer. {1]

32. The diagram bilow shows & metal spoon inra cup of hat tea.

metal .
spaon
. hot tea _
Complete each sentence to state.if each partis solid; liquid orgas. [2]

(@) The metal:spodnris-a-

(6) Thehotteaisa
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33.

Alli and Bibi had a giass jar which had a mass of 100 g and a volume of

150 cm®. :

They conducted an experiment using the steps below.

Step 1: Measure the mass of the jar.

Step 2: Pump in 30 cm? of air into the jar.

Step’'3: Méasure the mass of the jar again.

Ali-and Bibi rei:)eated steps 1 to 3-severaltimes-and-recorded their resuits as

follows:
Ali's results:
| massof jar(gy 100 103 106 109 112
volume-of-jar{cm?) 150 160 150 150 160
Bitii's results:
mass-ofjang) 190 | 103 106 109 112
volume of jar (cm?) 150 180 210 240 270

(a) Which one of these boys, Ali or Bibi, recorded his results correctly? {1]

(b) State 2 preperties of air in this expefiment. {2}
PROPERTY 1
PROPERTY 2
Paae 27 of 33 2011 P4 Sciance SA 2




Eugene wanted to find out how the distance between the light source, d (cm)
and an opaque object affects the length of its shadow formed on the screen.

He set up the experiment below and measured the length of the shadow
formed.

key

direction of light

¥

Eugene recorded his-Feadings in the table below.

distance between lamp and object, d (cm) length of shadow (cm)
18 10
— 23 " T ' 8 ]
28 5
(@) State‘the relationship between d and the length of shadow of the object
formed-onthe-screen. - {1]
(b) Whauwasmepgsgblﬁle t of shadowformed on the screen when
Eugene-placed the ebject:2s:.cm fromthielamp? {1]
(c) Describe-how the s,haci'ow of the opaque.abject is formed.on the screen.

(1]
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35. The diagram below shows a cooking pot with its labeled parts, X and Y.

Y
Fill in each blank with a suitable word. 21
(@) Part X is'made of plastic because itis a conductor
of heat.
(b). PartY.is made of metal because itis a conductor
of heat.

'36. Saraput a thermometer irito a tank of water as shown below.

thermometer

= tink

[ water

(2) Whitwasithe-tompersiufe of 6 water in the-tank? 1]

to be continued on the next page
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37.

continued from the previous page

Sara placed a flask of coloured liguid into a tank of hot water.

glass tube

‘coloured after a while

———-——ﬂﬂ-ﬂ)

x————1 flask

tank of hot water

Saraaebsei{'/.ed that:the iquid in the glass tube rose afterra while and recorded
the height of the liquid in the glass tube, h (cm), in the table below.

[time’s) 0 | 20 | 30 | 40 | 50 | 60
h ('cr'-n) 6 9 15 13 10
(b) Complete the table. Write down. the possmle height of the coloured
liquid, h, in the glasstube at the 30" second. 1]
()

. Explain:why the liquid in the glass tube-of a [aboratory thermometer
moves:up whents bulb is placed in‘hot water.

(2]

Smthi places a Tod magnet near a smalliron bar. The iron bar moves- towards
this ‘magnit in‘theditection shown’ by the‘arow.

— — O
iron.bar

rod-magnet

Complete-each of the blanks with a suitable word from the box below. 2]
. piish " hard magnetic  'strong pull  non-magnetic
(a) Magnetexerts a/an on the iron bar.

(b) Sruthi's observation shows that iron is a material.
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38.

Ken wanted to find out whether the number of coils round aniron nail affects
the strength of an electromagnet. He arranged four set-ups, A, B, C and D, as
shown below.

éet-up A - set-up B

]_

12 coils round the nail 12 coifs round the nail
éet-up C : J T setsup D
A
<
25 coils round the nail 25 coils round the nail

(@)  WHiéhitwosetups shiould Ken use to camy out.a fair test-for-his
expefiment? | (1]

setups_~ . and

(b)  Which.one of these:set-ups, A, B, C or D, could possibly pick up the most

-

Givé S-two reasois for.your answer. ' ' (2]
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39. Joanne placed object Y at position X. .
She brought the N-pole of a bar magnet P close to object Y which moved
away in the direction as indicated by the arrow below.

X >
L d N
N |} object Y

Imlﬂf-‘!Hll'i'ﬂ]’liﬂ'lﬂl[li 1|mquulun[nnimt

magnet P

1

plastic ruler

Using-a plastic ruler, Joanne measured the distance object Y had moved
- -away-from-X; d-{cm). .

Next, shewreplaced:bar magnet P with bar magnets, Q, R and S, of equal
- .slze;ONE atadtime; and.repeated-her-experiment.
Shea:recordedherresults-inthe:table-betow: -

- magnet T-distance object:Y thovedfron X; d (cm)
P R |
8§ : 14

Baseld-on-the information above, answer-the-following questions:

(a) What could Y possibly be? Give a reason for your-ahswer. (2]

to be continued on the next page
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continuad from previous page

Next, Joanne put a sheet of wood between magnet Q and object Y-as shown
below.

X
1

object Y

ll’ﬂllfﬂ]Hll|‘1l"|‘1’11‘{'li]-ﬂllII[Illﬂll|TII!‘IHI‘IHI|HH

_magnet Q

|

plastic:ruler

Joanne brought the&N-pole .of ' magnet Q close to theisheet of wood and
measured the. dlstar_\ce object Y had-moved-away-from:position X.

wood

ealedy ',,,\ﬁegpﬁel,?@@gt;by replacing the waod wittanron shest, a stee!

ot | di dlstance objactY moved from:X; d (cm)

OIOO&

(b) Based onthesinformation above, classify wood, iron, steel and plastic
- intotwerdifferent:groups-below. [1]

T magfelicmaterial ' nommagnetic niaterial

(¢) Give:awreasonwhy-object Y did NOT move from position X when the
iran-sheet was used in this experiment. 1]

- END OF PAPER -

Setters: Mr. Darren Lau, Ms Ha Win Nie
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Please do NOT print the answer key for the pupils

2011 PRIMARY 4 SCIENCE SA 2 ANSWER KEY
Setters: Ms Ho Win Nie, Darren Lau*
* main compiler

SECTION A (25 X 2.marks)

SECTION B (40 marks)

No. .| Marks Suggested answers Remarks
NP, P {1}for ONLY each
- R Living things P, Q cortect.group of

Non-living things - R, S things.classified

(Reproduce) by spores — 8

(Reproduce) by seeds .- C

[} forrcepmrect

NOT acceptable: classifigation of B;and
(a) 2 | Reproduce byispores * - B c
Do not reproduce by spores - C {11 for correct:sub-
Reproduce by:seeds -C headings:afterthe B
- YOS andiC.are-comectly
Do not repraduce by seeds - A, B classified
27 _
(b) 1 Any plant thfxt- 'reproduoes by spores g ?g;?::;pgg};ven in
Example : bird's nest fern, mosses, fem example)
Answer:
Set-up X
Reason:
(c) ’ ~*  More( or most) moisture/ water was mark holisticaily

. Mresent on the bread to encourage

‘. more mould-to grow on it

@ X is wetter/ damper than the other set-
i ups - _
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No.

Marks

Suggested answers

Remarks

28

(a)

* 1

motith

~

-[4] for wrong spelling

—_—

(b)

large iritestine

-{Y4] for wrong spellin;

_29.

(a)

skélefal system and muscular system

NOTE

No'mark is given for ONE correct system as

-[¥4] for wrong spelling -

()

TWO' sy Mms are to work ,tqgether.

. 'uq sxercise, Ravi's:heart pumped
more quickly.

. During_exercise, Ravi's heart needed to
beat faster.

{0] -for-the following:
=« Heart beat was the highestat D.

(0] for. identifying the

wrorg pefiod

1 (@)

&« roots
= root hairs

1. Any. one of the following:

« water
= mineral salts
= nutrients

. Tﬁ_,‘.l ,
g ‘(e) .

« food
*_glucose
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No.

Marks

Suggested answers

Remarks -

31

(a)

All of the following must be selected:
= mass of marble

= length of strip of materials
= thickness of stip of materials

NO partial mark

(b)

1] for any. oféthe:following:

= The more marbles

= The biggerthe :marbles

= Thehigher:ithe. number-of marbles
a.material can hold, the stronger is the
material.

o)

o

: maggg ﬂagg the others.
e mastweight!-mass.

£l

~-= —{t-cauld-hold-the-greatest-amovint-of

marbles.-before the strip broke.
= It carried most numbei-of marbles.
« {t camied the heaviestioad.

. [0):for

It could hold 138 marbles.

{1}
correct answer and
explanation

Mark holistically
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No. ‘Marks Suggested answers Remarks
r(a) 1 solid X - [¥2] for wrong spelling
32 - s
) 1 liquid - [¥4] for wrong spelling:
= u
@) 1 |
B _
33 [1] for each of:the-following: Do NOT accept:
b 2 = Air has mass. = Air has weight.
(b) « Air has no definite
= Air can be compressed. volume
' = Air takes up space.
(1] for any of the following:
« The greater the'distance betiveen
- famp and'object; d; the shorter the
length of the shadow of the object.
: « The smalier/the distance'between the
(a) 1 larp dnd object; d; tHe longerthe -
{ength of the: SHadow of the' object.
= When d1nerease the length of
34
{1
thai travels m a stta(ght hne 1is.
blocked by an: abject.
OR '
{c) 1 « A shadewis:foaned when light is
bl:hy»rau- qu.etct_
= Ash 3oy ﬁsﬂfeméd%en an object
" blocks{th pam%fi fight.
\_‘ T
@) 1 poor Not acceptable:
3 F R bad
by | 1 good
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Macks

No. Suggested answers Rémarks :
@ | 1 23 9C (O}‘for u‘sgng the wrong
' unit or NQ unit
(b) | 1 8<h<15
When iieat from'the hot water Remarks: _
= ..:is‘applljed Gain heat from hot
s travelled water must be
« transfefred mentioned
to the liquid [1] which-expands:{1] and
moves up. [4] for each point/ idea
36 OR - = how heat travels
(© 0 Liquid gaias heat from the hot wa}er [1], and | = what does heat do
. expands [1}, causing it fo move up. to the liquid
OR-
Liquid.is heated by the hot water [1], so it
-expands {1] and moves.up.
[1%) for-the following:
Liquid-gains heat[%}:and it expands {1]-and
moves up. |
_ (a,) 1T 1 1 pu{l P [¥4] for wrong spelling
37 ®] 1 | ‘maggetic - [#4]-for wrong spelling
Jm g [fAnswer NO pactiatmark
Maricholistically
38 redcli‘correctreason- No mark for identifying
b)| 2 «  lthasthe lar@éstmumlﬁer ‘of coils'round correct set-up only
the. nail.
k& lthas thesmestriumberofbatteries:
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Np.

Suggested answers

Remarks

Answer
A magnet

Reason

« | jke poles of the magnet P and Y faced
each other:and-repelled.

« Like poles of magnet Pand’Y- repelled
.eacb_&ih&u

- On,lye*magaet,s:c@uld,repelr

« ltwas repelled by other magnets P,QR

and S

= lt-coufd repel other inagnets.

Mark holistically
(0]

= Ut could attract or
repel.

= [t moved away from
the magnets
(already stated'in
the question)

39

(b}

magnetic materiatT*%2]
=« jron
= steel

{-non-magnetic materal:f¥l .

= wood
. Jlasttc

Reason :

[-vﬂvmaggeﬁsmrwnnot*pass-thmugh—‘i-he
< irohisticet
= magreticmateral

|| so thié sljeRrY wisald not move awayifrom

position X

Magnaﬁsm was:blagkedthe.iron.sheet:[1],
wihiich. ls@magneucimatenat

[G):for: negaﬂve« phr-asmg

-Mag Jsmcan;passthn ughma—magaetlc

-[%a]for-wrang speliing
of- magnetism

- END OF PAPER -
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